SEIAATERLA

Pneumatic Actuator

BIERZER Spring return or double acting
e il Aluminum Alloy Type
FBENITESAS Electric Actuator
XAEFS Double acting
EZ X7 EZ-Type
SohiTas
Pneumatic actuator
EZ4-EZ15 KB EBIITRR EZ25-EZ60 28I EBEH{T28
"EZ4-EZ15" Type electric actuation "EZ25-EZ60" Type electric actuation

CATALOGUE V15

Bz TH4a/k{4 | ACTUATION /ACCESSORIES
FAREEAIBESREATE - Values given for information. Changes possible.

/M4 | Actuation /Accessories M

FHHATIA)

Vel
—




Meca-inoX  EaniFHAG/MI#E | Actuation /Accessories

BALL VALV

SEiAiTER

PNEUMATIC ACTUATION

FHIEIL=

S ESEE (ASTM 6005) iR, WEREMHERE
NI, ASBFIINEIEIRBESRBBEBREA,
ST EERRHN, EREGEK, EHHtsE
G

WEEWRHWRIVRIT, FWRE. RENM
BN, ERLHECSE, EREBR.
LSS

FESHIEE [ RIS AMERISINET, N
TISCHMERE . R iattEa RIS LEHE .

RIRICINZTCREE TR, TREME, M
SSMBEZHIRY, BEANRZERE, BN
[EIREE NI EIRAYE SR .
SEEREMNS WEER/N. BES, Bt
VAESy NS

RATHEINREY, SSIUSERRER.

KAEEFRSER T

i, 25l IEPEEFLR IS NAMUR,

SIEZEORT TS NAMUR
JRER I RIS 1505211, DIN3337,
H{RELEEBEE, BRIFTREMGE

B iTH4A/K3{4 | ACTUATION /ACCESSORIES
AREE T BESMATEH- Values given for information. Changes possible.

Features and benefits

Extruded aluminum ASTM 6005 body with both
internal and external corrosion protection having
honed cylinder surface for longer life and low coef-
ficient of friction.

Dual piston rack and pinion design for compact
construction, symmetric mounting position, high-
cycle life and fast operation, reverse rotation can
be accomplished in the field by simply inverting
the pistons.

Muiltiple bearings and guides on racks and pistons,
low friction, high cycle life and prevent shaft
blowout.

Modular preloaded spring cartridge design, with
coated spring for simple versatile range, greater
safely and corrosion resistance, longer cycle life.
Fully machined teeth on piston and pinion for
accurate low backlash rack and pinion
engagement,maximum efficiency.Stainless steel
fasteners for long term corrosionresistance

Full conformance to the latest
specifications:1ISO 5211, DIN 3337 and
Namur or product interchangeability
and easy mounting of solenoids, limit
switches and other accessories.

CATALOGUE V15



'?Wﬁﬁ1¢|Actuatlon /Accessories /V\eca ino

BALL VALVES

BERRRFAT

DAZRZY WAEF
EO A= FFEMSO (PRTE)
OBt = XSO (IREdE )
SRE7 S1ER
B0 A= FEHSO (ERTE)
OB = XEAHSO (NIETEr )
ERNR [E4E= S TSR]
BRRREH
TERE WRERY: -20C+80C

EaFERAESD BASEAET 10 bar

SEiAiTER

PNEUMATICAC TUATION

Basic operating details

DA model

SR model

Operating
medium
Operating
temperature

Maximum
air pressure

Double acting
Port "A" = Air to open (anti-clockwise)
Port "B" = Air to close (clockwise)

Simple acting (Spring return)

Port "A" = Air to open (anti-clockwise com
pressing springs)

Port "B" = Springs to close (clockwise)

Air (dry or lubricated), non-corrosive

gas, light hydraulic oil

Standard: -20 C +80 C

Should not exceed 10 bar

RIIR(ERE () (RIRESI=5bar) / Maximum operating time in second (air pressure = 5 bar)

Actuator 2MICA- 2MICA- ZMICA- ZMICA- 2MICA- 2MICA- 2MICA- 2MICA- | 2MICA- | 2MICA- | 2MICA- | 2MICA-
SENMITR 125 140 160 190 210

XUERFR 4 5 5

Double acting (DA) open
WAEFXA

Double acting (DA) close 0.5 0.6 0.7 0.7 0.8 1 1.5 2 2.5 3 4 4
SIERAE

Spring return (SR) open 2 2 2 2 2 g g & & & g 0
SBIERXA

Spring return (SR) close 0.5 0.5 1 1 1 1 1 1 1 1.5 3 3

B ETSBERESE (Ft) / Air consumption per stroke (liter)

S iTE 2MICA- | 2MICA- | 2MICA- | 2MICA- | 2MICA- | 2MICA- | 2MICA- 2MICA-
Actuator 052 063 075 083 092 105 125 190
HA= .
%TE&‘,;E‘; eﬁ 0.08 0.11 2.43 3.65 5.9 7.4
P
KASO: B 0.11 0.14 0.23 0.38 0.55 0.91 1.18 1.85 3.2 5.03 7.9 9.7
Port 'B'to close
SNLEEE (kg) | Overall actuator weight (kg)
SEhTTER 2MICA- | 2MICA- | 2MICA- | 2MICA- | 2MICA- | 2MICA- | 2MICA- | 2MICA- | 2MICA- | 2MicA- | 2Mica-
Actuator 052 063 075 083 092 105 125 140 160 190 210
WAEF
Doubie acting (DA) 1.1 1.8 2.16 2.85 43 6.15 8.8 12.15 20.1 38.1 45.1
_ {FR 1.12 1.23 1.95 2.43 3.15 5.05 6.95 9.25 15.3 23.8 44.8 53.6
Spring return (SR)
B i T4 /ki 4 | ACTUATION /ACCESSORIES Ve3
CATALOGUE V15 RAREE R BE=REAT & H7- Values given for information. Changes possible. —




/\A}CE'M Bziig 1‘M’J/I31J‘1f|=|Actuatron lAteessones

BALL VALV

SEihiTER

PNE UMATIC ACTUATION

AREFITAILE

SoiTesEatnE:

- FEROMIKENHFLIRNE 1SO 5211 71 DIN 3337 i
TR

- SRR XAYED, 1R#ENamurfl vDI/
VDE 3845FR/

ERIMFSE :

R A KA EF MBI EPEXLZEM

BEREX,

- ATEX94/9/EC: BT EEEEEINEFINSEF
[YAEiaESS N ANTIN

KEEHIS5 98 /37 /EC & 98/ 79/ EC: HIMiZEIES .

Standard & appovals

Interface standard of actuators:

- I1SO flange and drive square according to I1SO 5211 ;
DIN 3337

- Interface for solenoid valve and limit switch box accor-
ding to Namur standard VDI / VDE 3845

European Directives:

Meca-Inox actuators are in accordance to the main
requirements of safety and health for workers accor-
ding to the European Directives:

-ATEX 94 /9 /EC: Concerning equipment and protec-
tive systems intended for use in potentially explosive
atmospheres

- Directive 98/37 / EC & 98 /79 / EC: machinery equip-
ment directive

CEEx 12GD

XAERSEATERIRIEEE /

Double acting operating torques (N.m)

SiE[E S/ Air supply pressure

SEHITE

2MICA-045DA 12.1 15.1 18.1 21.1

2MICA-052DA 16.1 20.2 24.2 28.2
2MICA-063DA 28.4 35.5 42.6 49.7
2MICA-075DA 40.3 50.3 60.4 70.5
2MICA-083DA 61.6 77.1 92.5 107.9
2MICA-092DA 90.9 113.6 136.3 159.1
2MICA-105DA 131.6 164.4 197.3 230.2
2MICA-125DA 205 256 308 359

2MICA-140DA 351 439 526 614

2MICA-160DA 535 668 802 935

2MICA-190DA 861 1077 1295 1508
2MICA-210DA 1052 1316 1579 1842

BzahhiTH4a/ki4: | ACTUATION /ACCESSORIES

AREE T BESMATEH- Values given for information. Changes possible.

CATALOGUE V15



Sz T/ B {4 | Actuation /Accessories eca-ino

= - = BALL VALVES
SEIITER
PNEUMATIC ACTUATION

PIERSIITEIRIEIA4E | Spring return operating torques (N.m)

SREEITIE
PREEX S Spring stroke
Number of
springs &R
End (90)°

2MICA-045SR8 2x4 4.6 7.4 7.2 4.3 = = = = = =
2MICA-045SR10 2x5 5.8 9.2 = = 9.0 5.4 = o = =
2MICA-045SR12 2x6 7.0 11.1 = = = = 10.8 6.5 13.8 9.5
2MICA-052SR8 2x4 6.8 9.9 9.0 5.7 = = = o = =
2MICA-052SR10 2x5 8.5 12.4 = = 11.3 7.2 = o = =
2MICA-052SR12 2x6 10.1 14.8 = = = = 13.5 8.6 17.5 12.6
2MICA-063SR8 2x4 10.9 16.7 16.9 10.8 = = = = = =
2MICA-063SR10 2x5 13.7 20.9 = = 21.1 13.5 = = = =
2MICA-063SR12 2x6 16.4 25.0 = = = = 25.3 16.2 32.4 23.3
2MICA-075SR8 2x4 16.9 23.2 22.5 15.9 = = = = = =
2MICA-075SR10 2x5 21.1 29.0 = = 28.1 19.8 = = = -
2MICA-075SR12 2x6 25.3 34.7 = = = - 33.8 23.8 43.9 33.9
2MICA-083SR8 2x4 25.3 36.8 35.0 22.8 - - - - - -
2MICA-083SR10 2x5 31.6 46.0 - - 43.8 28.7 - - - -
2MICA-083SR12 2x6 38.0 55.2 - - - - 52.5 34.4 67.9 49.8
2MICA-092SR8 2x4 37.3 55.0 51.6 33.0 - - - - - -
2MICA-092SR10 2x5 46.7 68.7 - - 64.5 41.2 - - - -
2MICA-092SR12 2x6 56.0 82.5 - - - - 77.3 49.5 100.1 72.3
2MICA-105SR8 2x4 50.6 78.7 78.3 48.7 - - - - - -
2MICA-105SR10 2x5 63.3 98.4 - - 97.8 60.8 - - - -
2MICA-105SR12 2x6 75.9 118.1 - - - - 117.4 73.0 150.3 105.9
2MICA-125SR8 2x4 83.8 125.4 116.8 73.0 - - - - - -
2MICA-125SR10 2x5 104.7 156.8 - - 145.8 91.0 - - - -
2MICA-125SR12 2x6 125.7 188.1 - - - - 175.7 110.0 226.7 161.0
2MICA-140SR8 2x4 137.3 206.3 206.5 133.8 - - - - - -
2MICA-140SR10 2x5 171.6 257.9 - - 258.4 167.5 - - - -
2MICA-140SR12 2x6 205.9 309.5 - - - - 309.3 200.2 397.3 288.2
2MICA-160SR8 2x4 223 333 299.8 184.2 - - - - - -
2MICA-160SR10 2x5 279 417 - - 374 229.5 - - - -
2MICA-160SR12 2x6 335 500 = = = = 449.2 275.7 582.1 408.7
2MICA-190SR8 2x4 303 469 524 340 - - - - - -
2MICA-190SR10 2x5 379 586 = - 656 426 - - - -
2MICA-190SR12 2x6 455 703 = = = = 787 511 1003 727
2MICA-210SR8 2x4 417 575 589 413 = = = = = =
2MICA-210SR10 2x5 521 719 = = 737 517 = = = =
2MICA-210SR12 2x6 625 863 = o = o 884 620 1147 883

B i T4 /ki 4 | ACTUATION /ACCESSORIES Ve5
CATALOGUE V15 BARIEE R RESMEATEFT- Values given for information. Changes possible. I



SEihiTER

PENUMATIC ACTUATION

EEMY  Components

Meca-inoX  EaFHE/E | Actuation /Accessories

Ref Description 2 =/ Material 1
1 Indicator Screw FERSR2ET 1 Stainless steel (304) 5N
2 Indicator iz 1 Plastic (ABS) 21
3 Circlip SN 1 Stainless steel (304) THW
4 Thrust washer B 1 Stainless steel (304) TN
5 Outside washer gNR 1 Polyoxymethylene TrE¥esl
6 Body LKy 1 Extruded aluminum alloy (6005-T5) | $8&% (6005-T5)
7 Inside washer IO B 1 NBR BRI, TR
8 O-ring (pinion top) sy B 1 Polyoxymethylene TrEsEsl
9 Bearing (pinion top) e 1 Polyoxymethylene T2
10 Pinion | 1 #45 steel #45 §¥
11 Bearing (pinion bottom) N E 1 Polyoxymethylene TrE¥Esl
12 O-ring (pinion bottom) T O"EE 1 NBR IR TRGR
13 Plug =L 2 NBR LA
14 Piston JREE 2 Die-casting aluminum (101A) JEE5ER (101A)
15 O-ring (piston) EE'OEE 2 NBR a8, TIBEgKR
16 Bearing (piston) TEESURE 2 Polyoxymethylene Ti28exl
17 Guide (piston) EESIR 2 Nylon66 JEH 66
18 Spring SPEE = Spring steel RSN
19 Spring retainer (L) HELE < Nylon66 e 66
20 Spring retainer (R) WEAE S Nylon66 el 66
21 Retainer connector SEEEESEAT s Brass £
22 O-ring(End-cap) el Ot i 2 NBR BRI, TIERR
23 End-cap Uiias 2 Die-casting aluminum (ADC12) JE$545 (ADC12)
24 End-cap screw Ui 22 [EHRF 8 Stainless steel (304) 5 (304)
25 Adjust screw PERELENES 2 Stainless steel (304) 59X (304)
26 O-ring (adjust screw) BRI OB 2 Stainless steel (304) A E5M (304)
27 Nut (adjust screw) EREL AR s 2 NBR R, TSR

— AREE T BESMATEH- Values given for information. Changes possible.

BEH4THA/M 4% | ACTUATION /ACCESSORIES

CATALOGUE V15



SEIITER
PENUMATIC ACTUATION

HMEZR~F  Overall dimensions

eca-ino

BALL VALVES

Arr connect:on

2MICA-045 M5x8 M6x10 G1/8"
2MICA-052 50 | 59 | 74 | 104 | 12 | 14 | Fo4 | FO5 | M5x8 | 11 | 146 | 10 | 80 | M6x10 | 14 G1/8"
2MICA-063 60 | 72 | 88 | 118 | 12 | 18 | FO5 | FO7 | M6x10 | 14 | 168 | 10 | 80 | M8x13 | 18 G1/8"
2MICA-075 65 | 83 | 100 | 130 | 12 | 18 | FO5 | FO7 | M6x10 | 14 | 184 | 10 | 80 | M8x13 | 18 G1/8"
2MICA-083 67 | 90 | 109 | 139 | 14 | 18 | FO5 | FO7 | M6x10 | 17 | 204 | 10 | 80 | M8x13 | 21 G1/8"
2MICA-092 76 | 104 | 120 | 150 | 18 | 25 | FO5 | FO7 | M6x10 | 17 | 260 | 14 | 80 | M8x13 | 21 G1/8"
2MICA-105 90 | 115 | 133 | 163 | 20 | 25 | FO7 | F10 | M8x13 | 22 | 268 | 14 | 80 | M10x16 | 26 G1/8"
2MICA-125 104 | 140 | 155 | 185 | 28 | 40 | FO7 | F10 | M8x13 | 22 | 298 | 20 | 130 | M10x16 | 26 | NAMURG1/4"
2MICA-140 107 | 152 |171.5|201.5| 28 | 40 | F10 | F12 | M10x16 | 27 | 390 | 20 | 130 | M12x20 | 31 | NAMURG1/4"
2MICA-160 128 | 175.8| 197 | 227 | 36 | 40 | F10 | F12 | M10x16 | 27 | 458 | 28 | 130 | M12x20 | 31 | NAMURG1/4"
2MICA-190 135 | 206 | 230 | 260 | 45 | 60 | - | F14 - 36 | 525 | 32 | 130 | M16x25 | 40 | NAMURG1/4"
2MICA-210 135 | 226 | 255 | 285 | 45 | 60 | - | F14 - 36 | 532 | 32 | 130 | M16x25 | 40 | NAMURG1/4"
BEIHiTHE/M4 | ACTUATION /ACCESSORIES Ve7
CATALOGUE V15 BARIEE R RESMEATEFT- Values given for information. Changes possible. I




Meca-inoX  Eah#HIH/HIE | Actuation /Accessories

FERIITER

BISEZ4-EZ60 EZ 4 to EZ 60 presentation
tH%E 45 - 600N.m Torque 45 to 600 N.m
ETBRIRIR fm —
'owerful motor
Adjustable mechanical stops i — oo
/ P (va=ti=pn:=
Position indicotor
4 N\
1 BERNARD®
EZ4-EZ15 \\wr, CONTROLS
Fie
Handwheel operation EZ25-EZ60
HMITEEIR
R EZ HUTHMEETHIS RYRIPROEBN . SRR S . ESIRIEFR . TIERAFFR. HEFFX (BREZ4-EZ15) | Ff
RENIREE AN S B R N ER B I S
Spcany WRREFUIWMBER, FTRIEBEETN
EZ4 - EZ50: 20,000 )RXAETA (FFKEY) / 300,000 i2af] (T2
RitHEdn EZ100 - EZ1000: 10,000 &R (FFX2) / 200,0002]) (1B T5EY)
&I EN15714-2 Class A & B 3Tl
e WTHWERERABEREE, REXAEBTFHRERE, BMERAL1017
IP67
ERANEEAR £EHH, SEEARENBN, FRES, AETRRID
EEANTES $4-25% FEATEHI (FKIEIEC 60034-1) , UE(EFERNINE 360 RN/ \af
RESEE IRESEE-20... +60°C/ -4 ... +140°F
(A=t WU EiEnes, B ERFEIERHRIATT LUEEHERIRU
BSiEE BRI EERSIEGIE IR F . NEETE.
=i 2xM20, THHELLEE
WS TMES ShnE:
KRARESSinE CEf§<: 2004/108/EC. 2006/95/EC
FrfE: EN61000-6-4, EN 61000-6-2. EN 60034-1 %] EN 60529
General specifications
General EZ actuators include motor with thermal protection, gear case, emergency handwheel, travel limit switches, torque switches
(except EZ4 to EZ15) anti-condensation heater, and output drive with removable socket
Gear design Gears are mechanically self-locking and are lubricated for product lifetime
EZ4 to EZ60: 20,000 cycles (On-Off) / 300,000 starts (Positioning)
Design life EZ100 to EZ1000: 10,000 cycles (On-Off) / 200,000 starts (Positioning)
Testedto EN15714-2 Class A& B
Enclosures /I;cfit;ator housing in aluminium die casting, cathaphoresis & epoxy paint RAL 1017
Motor technology Totally-enclosed, squirrel cage 3-phase or 1-phase motor, class F insulation with integral thermal overload protection.
Motor duty S$4-25% motor duty rating to IEC 60034-1. 360 starts/hour in peak
Temperature range -20°Cto +60°C/ -4°F to +140°F

Position indication

Mechanical position indicator for a continuous indication even in the event of power supply loss

Electrical connection

Screw-type terminals for controls and power supply. Internal earth grounding post

Cable entries

2 xM20 sealed by caps

Compliance with
Directives & Standards

Actuators comply with: EC directives 2004 / 108 / EC, 2006 / 95/ EC
and standards EN 61000-6-4, EN 61000-6-2, EN 60034-1 and EN 60529

Ve8 BzhifTH44/6F44 | ACTUATION /ACCESSORIES

— AREE T BESMATEH- Values given for information. Changes possible.

CATALOGUE V15



/B4 | Actuation /Accessories

BERRESH

ELECTRIC ACTUATION

FERIITER

Basic operating details

FFR B

BALL VALVES

ITREIRAIER S 4/NSPDT il ; B2 ATAEL250 VACI6 A/ 48 VDC-2,5 A. (ERJRIE D)
TAEIRA RS PR AT iRaT Al (BREZ4-EZ15)

FREC2 M, SPDT, ERAME250VAC-6A /48 VDC-25 A, (FBREIEAER)

EREVERES (i)

1000 Ohm EBf7it, 03 W, RERzhfit=FEARImA,
4-20mA (RF312. 243;32VERIER150. 750511050 ohmsfaz )

TA M EZRIXRE:

On-Off controls

Travel limit system

4 SPDT contacts; 250 VAC-16 A/ 48 VDC-2.5 Amax. (resistive load)

Torque limiting system

The torque limit switch gives a short duration contact. (except EZ4 to EZ15)
2 contacts as standard ; SPDT ; 250VAC-16A / 48 VDC-2.5 Amax. (resistive load)

Remote position signal

(option)

1000 Ohm potentiometer, 0.3 W - wiper current = max. 1 mA.
"TAM" position transmitter: 4-20 mA (12, 24 or 32V) power supply for maximum permissible load of 150, 750 or 1050 Ohms

i Minigam B9—{H46E T BLiEHI

EfEE

=T 2%
LKA TR/

W< (IRER)

AREERAES (

BINBEHT )

4-20 mA (260 Q) / 0-20 mA (260 Q) / 0-10 V (10 kQ)

BHESXEBESHMANESHEE (FIRHAES 4-20 mA - {ES4-20mA)

BRI 4-20 mA (5xA300 Q) / 0-20 mA (K300 Q) /0-10 V (F2/)\5 kQ)
2/NSPDT filss: SR AZAE250VAC-16A/48VDC-2,5A, (EB[EMERE)
EERRIRIPINRE IRIQZLRIA . BBAPVRIR . AR (EZ2s LA EALS)

Positioning with Minigam integrated controls

Positioning precision

Better than 2%.

Dead band adjustable by potentiometer

Command (set-point)

Configurable input signal (input impedance):
4-20mA (260Q)/0-20mA (260 Q) /0-10 V (10k Q)

Output signal identical to the input signal (i.e, input signal: 4-20 mA — output signal: 4-20 mA)

Position feedback 4-20mA (300 Q max.) / 0-20 mA (300 Q max.)/0-10 V (5 k Q min.)
2 SPDT contacts; 250 VAC-16 A/ 48 VDC-2.5 Amax. (resistive load)
Integrated protections Fuse protection - Motor thermal protection - Torque limiter protection (EZ25 and above)

1x230 VAC 50 Hz

EaH-S4-25%
Motor - S4 service - Duty rating: 25%

BS RXHSENm REEWAMnigam | BHHENm)  TEMEG/90°) | ISOE& IhE (kw) TERMA) | ETEBFEA)
Type Max torque N.m Availal‘)/I: r’s’; g'inigam Potsz’l:‘rl)ing Opel;a}‘.iggntime Flange ISO e Currer;‘t rated Currentstart
EZ4 45 non = 6 FO5/F07 0.03 0.8 0.9
EZ6 60 non = 6 Fo5/F07 0.03 0.6 0.9
EZ10 100 non = 6 Fo5/F07 0.06 1.2 1.7
EZ10 100 oui 50N.m 35 FO5/F07 0.02 0.5 0.6
EZ15 150 oui 75N.m 25 Fo5/F07 0.03 0.6 0.9
EZ25 250 oui 125 N.m 30 FO7/F10 0.03 0.6 0.9
EZ60 600 oui 250N.m 30 FO7/F10 0.06 1.2 1.7
EZ6 60 non = 6 Fo5/F07 0.03 0.3 0.5
EZ10 100 non = 6 Fo5/F07 0.1 0.6 1.1
EZ15 150 non = 25 Fo5/Fo7 0.03 0.3 0.5
EZ25 250 non = 30 FO7/F10 0.03 0.3 0.5
EZ60 600 non = 30 FO7/F10 0.06 0.3 0.8
BEIHiTHE/M4 | ACTUATION /ACCESSORIES Ve9
CATALOGUE V15 BARIEE R RESMEATEFT- Values given for information. Changes possible. S




Meca-inoX  ganiiFHLm/ME | Actuation

FEIHITES
ELECTRIC ACTUATION

EZ RIVIMNERT

a3

Overall dimensions "EZ" type

Y 4
‘ A}

Y BERNARD®
) CONTROLS

al a2
1SO 5211 BAMBHFR /Stem size (mm)
E=Ta BE(2F)
Flange Bk T3t Weight (kg)

1SO5211 Bore (Max) Square(Max)
EZ4 FO5/F07 22 19 <273 <200 <225 6
EZ6 FO5/F07 22 19 <319 <200 <225 7
EZ10 FO5/F07 22 19 <362 <200 <225 7
EZ15 FO5/F07 22 19 <362 <200 <225 7

a2
m I
| ©
§

al
1S0 5211 BABFRT/Stem size (mm)
E=TEH HE(2F)
Flange I Weight (kg)
1SO5211 Bore (max.)
EZ25 FO7/F10 30 22 <479 <313 <180 18
EZ60 F07/F10 32 27 <528 <313 <180 20
[ped U Onrequest:
HttE Other voltage
FhIREL (ATEX) ATEX version
V10 BaITHAE/HF | ACTUATION /ACCESSORIES
I FAREE AL REATEH Values given for information. Changes possible.

CATALOGUE V15



(B | Actuation /Accessories /V\eca-ino

BEIHITHNE/M{4 | ACTUATION /ACCESSORIES Ve1l1l
CATALOGUE V15 BARIEE R RESMEATEFT- Values given for information. Changes possible. S



Meca-inoX

Ve12 BaITHAE/HF | ACTUATION /ACCESSORIES
I FAREE AL REATEH Values given for information. Changes possible. CATALOGUE V15



Bﬁ i | Actuation /Accessories Meca-inoX

PRIZFFK / FRfZiE

iR
IP65 / IP67
JBNFEfa X
EEx “ia"

EEx "ed"

EEx "em"
ATEX 112G /D

Inductive sensors

EEx ‘em' EB#%i%

EEx ‘'em'solenoid valve

CATALOGUE V15

Limit switches / Solenoid valves

Classes of protection
IP65/1P67

Hazardeous area protection
EEx "ia"

EEx "ed"

EEx "em"

ATEXII2G/D

EEx ‘ia' B3 %[

EEXx ‘ia' solenoid valve

EEx 'ed' JRIZFFX
EEx 'ed' Limited switch box

Bz TH4a/k{4 | ACTUATION /ACCESSORIES
RIS E R REEMEATEF- Values given for information. Changes possible.

Ve13




Meca-inoX ez Hin/iE | Actuation /Accessories

B4

ACCESSORIES

BRIFFK
LEXIE

B
IP67

s
IRFEERE, BEEMERER
VDI /VDE 3845 522

ik
2x1/2" GHELy

=
==

2 x SPDT HIMFF><

(VA=Ei=mN
FEBRZFFRZRITRER (FF/ X)

FARSH

FBIE: &K 250V
B RA16A
BE: -20°C &l 80°C

Limit switch box

Safe area

Protection
P67

Housing
Polyester powder coated die-casted aluminium
Bracket according to VDI / VDE 3845

Cabling
2x1/2"Gthread

Signal
2 x SPDT mechanical switches

Position indication
On the top of the box (Open / Closed)

EENITHI/M4 | ACTUATION /ACCESSORIES
RSB AT RESRERT & Values given for information. Changes possible.

Technical data

Voltage: 250V max

Current: 16A max
Temperature: -20°C to 80°C

CATALOGUE V15



ASCO E8f% i
TZeXig,

G531 BUEB iR

5/2-3/2 B4

RAVERE sERL TR
ERGHRESK (L35 )
E7/3: 2% 10 bar

NS5 (6 bar): 11001/ min
iBE: -10°C &l +60°C

4 IP65

R ohig(Eigie

IP65 S SiE

Al=:SCG 531

FrERBE: 24VDC, 24VAC, 115VAC, 230 VAC 50Hz
#23L M 20x1.5

CATALOGUE V15

B4
ACCESSORIES

Solenoid valve ASCO

Safe area

Solenoid valve G531 type

5/2 -3/2 type

Body in anodized aluminium

Supply: air, neutral gaz (filtered)
Pressure: 2 to 10 bar

Air flowrate (Qv at 6 bar): 11001/ min.
Temperature: -10°C to +60°C
Housing IP65

Manual override

IP65 pilot

Type: SCG 531

Voltages: 24VDC, 24VAC, 115VAC, 230VAC 50Hz
Gland entry M20x 1.5

Bz TH4a/k{4 | ACTUATION /ACCESSORIES
FAREEAIBESREATE - Values given for information. Changes possible.

BT/ | Actuation /Accessories M

Ve15




Meca-inoX  EEhiFHAG/MIE | Actuation /Accessories

BALL VALVES

B4
ACCESSORIES

Parker EBf%1®)

T X

BNK AD6 JNC2 BYEE 1%

5/2 -3/2 BI

|‘H{7M’E A4bIE

TIPSR (LTE)
J&=/7:2 E] 10 bar
ZHEME (6 bar): Qv =600l/min
iBE: -10°C F 60°C
4N P65
TS ENIR{EIZie

IP65 55 5i®

AUS:496593C2

h/&EEJ_ . 24VDC, 24VAC, 115VAC, 230 VAC 50Hz
#23L M 20x1.5

V16 B ahTHAA/ B4 | ACTUATION /ACCESSORIES
— AREE T BESMATEH- Values given for information. Changes possible.

Solenoid valve Parker

Safe area

Solenoid valve BNKAD6JNC2 type
5/2 - 3/2 type

Body in Aluminum

Supply: air, inert gas (filtered)
Pressure: 2 to 10 bar

Air flowrate (Qv at 6 bar): 600 I/min
Temperature: -25°C to 80°C
Housing IP65

Manual operation screw

IP65 pilot

Type: 496593C2

Standard voltages: 24VDC, 24VAC, 115VAC, 230 VAC
50Hz

Gland entry M20x1.5

CATALOGUE V15



;

SHLAI/B344 | Actuation /Accessories /V\

itia
IP67

RAVE

> PBTP R )& /%%
Baitah e Ex

VDI / VDE 3845

ek
M18#zk

= i
AR, HER

EIER
M IEE LED AT

BARSH
EB/%:10% 36 VDC
EEi% : 250mA

ISE :-20°C F 80°C

ATIELR
AIERIEHEASHI IFM RN 25

CATALOGUE V15

B4
ACCESSORIES

Inductive sensor

Safe area

Protection
P67

Sensors

2 sensors moulded in PBTP.
Shocks and vibrations resistant
VDI/VDE 3845

Cabling
M 18 connector

Signal
2 inductive sensors normally open with target puck

Position Indication
2 yellow LED

Technical data

Voltage: 10 to 36 VDC
Current: 250mA

Temperature : -20°C to +80°C

Onrequest
Other types of IFM sensors

Bz TH4a/k{4 | ACTUATION /ACCESSORIES

FAREEAIBESREATE - Values given for information. Changes possible.

eca-ino

BALL VALVES

Ve1l7




Meca-inoX  EaniniFHAE/HIE | Actuation /Accessories

BALL VALV

LhiEs
ACCESSORIES

BURKERT EEx"ia"EBf%[®
JRVESSFE X 15, (ATEX)

6519 B SHEIRE

5/2-3/2 Bi={

R ohiREigie
BRI
THRIYHRESEK (L1d0E)
JE=/7: M. 2 £ 8 bar
ZRERE(6 bar): 9001/ min
iBE:-20°C &l 55°C

YN IP65

EEx"ia" S5 5@
ATEX94/9/ECI12G EEx"ia"lIC T6
FEJ%: 24 VDC

3l M20x 1.5

Ve18 B ahTHAA/ B4 | ACTUATION /ACCESSORIES
— AREE T BESMATEH- Values given for information. Changes possible.

EEx"ia" solenoid valve BURKERT

'Hazardeous area' protection (ATEX)

Solenoid valve 6519 type

5/2 - 3/2 type

Manual override

Body in polyamid

Supply: air, neutral gaz (filtered)
Pressure: 2 to 8 bar

Air flowrate (Qv at 6 bar): 900 1/ min.
Temperature: -20°C to +55°C
Housing IP65

nin

EEx"ia" pilot

ATEX94/9/ECII2G EEx"ia"lIC T6
Voltage: 24 VDC

Gland entry M20x 1.5

CATALOGUE V15



ST

B4
ACCESSORIES

/P14 | Actuation /Accessories M

Inductive sensors EEx"ia"
'Hazardeous area’' protection (ATEX)

EEx"ia"[Rep (& /%28
IRVESSRE X 15, (ATEX)

3z 7al
KEZE EEX"ia"lICT6
ATEX94/9/ECII2GD
o= zIN )
PN i PR i

IP67 (FH7K

RAVES
N PBTP 155 /2 p 28
VDI / VDE 3845 [HlEh K% =5

ek
M18 3k
=5
N EFFRNEE, & EINE
UVA={ =7
N EE LED YT
BARSH
B3/%:7.5t0 15VDC
&\ FBJE: 8.2 VDC (Namur)
Bz <1mA (BEEER)
> 2.1mA (R EER)
B -20°C £ 70°C

BJIEIR
Bl EHE AL SHY IFM R

CATALOGUE V15

Protection
Intrasically safe EEx"ia" lIC T6.
ATEX94/9/ECII2GD
IP67 (spatterings of water, air, dust)

Sensors
2 sensors moulded in PBTP.
Shocks and vibrations resistant VDI / VDE 3845

Cabling
M 18 connector

2 inductive sensors normally close with target puck

Signal

Position Indication
2 yellow LED

Technical data
Voltage : 7.5to 15 VDC
Nominal voltage: 8.2VDC (Namur)
Current: < 1mA (damped)
> 2.1mA (undamped)

Temperature : -20°Ca +70°C

Onrequest
Other types of IFM sensors
Bz TH4a/k{4 | ACTUATION /ACCESSORIES

A
FAREEAIBESREATE - Values given for information. Changes possible.

V19
—



Meca-inoX _ eahitsHLa/HHEE | Actuation /Accessories.

BALL VALV

LhiEs
ACCESSORIES

EEx"d"BR{FFXK

JRNEE R I

Rip
IP67

2IRTUVEXJIICT6

5h5%

EEIEME, RERIREGR
VDI / VDE 384535728

otk

2 x 3/4" NPT $284%

=
==3

2 x SPDT M FF==

&R
HERRZFFXZRITRER (FF/ X)

RARSH

BIE: &K 250V
B &K 16A

BE: -20°C % 80°C

BzahhiTH4a/ki4: | ACTUATION /ACCESSORIES

AREE T BESMATEH- Values given for information. Changes possible.

Limit switch box EEx"d"

'Hazardeous area' protection

Protection
IP67
Explosion proof ExdlIC T6

Housing
Polyester powder coated die-casted aluminium
Bracket according to VDI / VDE 3845

Cabling
2x3/4" NPT thread

Signal
2 x SPDT mechanical switches

Position indication
On the top of the box (Open / Closed)

Technical data

Voltage: 250V max

Current: 16A max
Temperature: -20°C to 80°C

CATALOGUE V15



RIS

B4
ACCESSORIES

BURKERT EEx"em"EE %[

IR VESS IS X 15, (ATEX)

6519 BYSERIE

5/2-3/2 B

FrhigEigie
BRELAR IR
EEIGYFESEK (L135E)
[E73:2 E 8 bar

E7E: (6 bar): 9001/ min

iRE:-20°CE55°C

4h% IP65

EEx"em" 5 5iE
ATEX94/9/ECII2GEEXx"em"T6

FH%: 24VDC, 24VAC, 115VAC, 230VAC 50Hz

sl M20x1.5

CATALOGUE V15

Actuation /Accessories /V\eca-ino

EEx"em" solenoid valve BURKERT

'Hazardeous area’' protection (ATEX)

Solenoid valve 6519 type
5/2 - 3/2 type
Manual override
Body in polyamid
Supply: air, neutral gaz (filtered)
Pressure: 2 to 8 bar
Air flowrate (Qv at 6 bar): 9001/ min.
Temperature: -20°C to +55°C
Housing IP65
ATEX94/9/ECII2GD EEx"em" T6
Voltage: 24VDC, 24VAC, 115VAC, 230VAC 50Hz

EEx"em" pilot

Gland entry M20x1.5

Bz TH4a/kt{4 | ACTUATION /ACCESSORIES

AREE T EEMATEH+ Values given for information. Changes possible.

Ve21
—



Meca-inoX  ganiF i/ | Actuation /Accessorie:

LhiEs
ACCESSORIES

ASCO EEx"d"EB &

IRVEfS RS X 15, (ATEX)

G551 LPKF BYSHIFZ(E
5/2-3/2 BI={

Frig
%D%Jm
T5EL

E5:2

CRERE
TTINE

IJIIIJ_‘_ .
A IP

P

1%

PSR (E358)
%l 10 bar

= (6 bar): 9001/ min

-40°C &Il 60°C

67

%4 CEI335

EEx"d"

S

FIPEL : 12GExdIIB+H2Gb T6

BE

DC: 24VDC, 48VDC

AC50H

z:24VAC, 48VAC, 115VAC, 230VAC

IERTE 6 - 12mm 93 E%%Eﬂfﬂﬁi\‘fﬁfﬁﬁt}%%

BzahhiTH4a/ki4: | ACTUATION /ACCESSORIES

AREE T BESMATEH- Values given for information. Changes possible.

EEx"d" solenoid valve ASCO

'Hazardeous area’ protection (ATEX)

Spoolvalve Asco G551 LPKF
5/2 and 3/2 type

Manual override

Aluminium body

Supply: air, neutral gaz (filtered)
Pressure: 2 to 10 bar

Air flowrate (6 bar): 900/ min.
Temperature: -40°C to +60°C
IP67 Housing

Compliant to CEI 335

EEx “d" pilot

Protection: 112G Ex d lIB+H2 Gb T6

Voltage (Power):

DC:24VDC, 48VDC

AC50Hz: 24VAC, 48VAC, 115VAC, 230VAC
Delivered with cable gland packing for unarmored cable
diameter: 6 - 12mm

CATALOGUE V15



B4
ACCESSORIES

EH{thaTi%IRn Others solutions on request

o ZH! / \ Example o

R FEE Limit switch box
S 1 ) including solenoid
valve
B THH/E | ACTUATION /ACCESSORIES V23

CATALOGUE V15 WAREETRESMBATERf Values given for information. Changes possible. I



